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The three strategies needed to build BV trees doesnot include
Space patrtitioning

____produced the Reality Engine.
Silicon Graphics

Arasterisa ____ grid of pixels.
2-Dimensional

In a CRT the shadow mask is a layer with __ hole per pixel.
One

The retina contains light sensitive cells called
Rods and Cones

is the conversion of a scene into an image..
Rendering

In LCD, the liquid crystal rotates the polarity of incoming ligh by __ degrees.
90

A quad tree has __ number of children.
Four

In computer graphics, we work with points and
Vectors

One of these is not an application of computer gaphics.
Hotel reservation

Whatsapp: 08089722160 or click here for TMA assistance

Practice E-exams & Chat with course mates on noungeeks.net


https://bit.ly/3Rb4Vxn  
https://T.me/NOUNSTUDENTSFORUM
https://wa.me/message/M3U4JPAOT4FEB1
https://noungeeks.net
http://www.a-pdf.com/?wm-demo

